
Elfin Grammar 3 Unit Test (Unit 19) 

Date: Class: Student Name: 

 

[1~5] Circle the incorrect words and rewrite. 

1. They isn’t policemen.     aren’t 

2. She aren’t a cook.       isn’t 

3. They can’t notebooks.   aren’t 

4. He will’t be a lawyer.    won’t 

5. You isn’t sick.           aren’t 

 

 [6~10] Write the right contraction of the given word. 

 

6. will         won’t 

7. did         didn’t 

8. can         can’t 

9. could       couldn’t 

10. should     shouldn’t 

For example)   are  aren’t 


